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WEEKLY TEST TYJ-02 MATHEMATICS SOLUTION 11 AUGUST 2019

31. (a) tanl°tan2°....tan89°
= (tan1°tan 89°)(tan 2°tan 88°)...... =1x1x1l..=1.

32. (a) sin@+cosf =1
Squaring on both sides, we get
= sin?0+cos?0 + 2sinfcosh =1

..sinfcosd =0.
i 2 2 9 25
33. (b) Since cosec“@ =1+cot’f=1+—=—
16 16
( tand = —ij
3
sin26=;=ﬁz>sin6=i%,

cosec?0 25

Both the values are acceptable, since tang = —%

ie.,0 liesin 2" or 4" quadrant.

34. (b) (1 — S'_nej + (1 hi anej is the sum of two positive quantities and hence the result must be positive.
1+sin@ 1-sin@

1-sin@+1+singd 2
Ji-sin20 cos
(-~ cos@® is negative for O lying in 2™ quadrant). So the required positive value

But for %< 0 < =, we have the sum equal to 5 ; which is negative.

= =—25ec9,(£<9<nj
coso 2

35. (a) We have cos@ —sinf =+/2sin@
:cose=(ﬁ+1)sin9:(ﬁ—1)cose=sin9

=4/2c0s0 —cosh = sinf =sinb + cosO =ﬁc039.

36. (b) secO+tanf =p :>sec€—tan6=%

Subtracting second from first, we get 2tano = p S
p

p? -1
2p
37. (d) tanA+cotA=4
=tan® A+cot’® A+ 2tan A cot A =16

=tand =

—=tan? A+cot’? A=14 =tan* A+cot* A+2=196
=tan* A+cot* A=194.
38. (c) We have, sinx+sin®x=1
or sinx =1-sin?x or sinx =cos? x
- c0s*? x +3¢0s'® x + 3¢cos® x + cos® x — 2
=sin® x+3sin® x + 3sin* x +sin® x -2
= (sin? x)® + 3(sin? x)? sin x

+3(sin? x)(sin x)? +(sin x)* — 2



39.

40.

41.

42.
43.

44.

45.

=@6in® x+sinx)* -2 =(@)°-2

[+ sin x +sin? x = 1(given)]

=-1.

(&) We know that one of the factor of the given expression is cos90°=0.

Therefore cos 1°.cos 2°.cos 3°...cos 179° = 0

(b) Since sin190° = —sin10°, sin 200° = —sin 20°,

sin 210° = —sin 30°, sin 360° = sin180° = 0 etc.

(c) 6(sin® 6 +cos® 6)— 9(sin* O + cos* 6) + 4
=6[(sin? 6 + cos? 0)® — 3sin” cos? H(sin? 6 +
—9[(sin? 0 + cos? 6)? — 2sin? 0 cos?] + 4

cos? 6)]

=6[1—3sin% 0 cos® ] - 9[1— 2sin® O cos? O] + 4

=6-9+4=1.

(a) x=cos40°+cos130° = 2cos85°c0s45° >0 .

(b) We have x —ycos% = zcos‘%r

X_Y

:>—=—=i2=/1 (say) = x =14,y =22,z =2

1 -2
. 2 2 2
SXY+YZ+ZX =20 +41° =22 =0.

(c) cosA-sinA= cosS——sm5—7r A_57r
4 4 4

=—COS +Sln =0.
4 4

R

(d) We know that sin (A + B)=sin Acos B +cos Asin B

J_ 5\/_\/7

5
r\f o

= sin(A+ B)=sinz

Hence, A+B =%

1
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